Име: _____________________


1.   Израчунај!

4 + 2 = 


8 + 2 = 


7 – 1 =


5 – 0 = 

3 + 5 =


5 + 4 =


5 – 3 =


9 – 7 =

9 + 0 =


3 + 3 =


6 – 2 =


10 – 4=

6 + 4 =


2 + 7 =


4 – 4 =


8 – 5 =

2.  Упореди
2 + 3          7 – 2


4 + 5          1 + 8


10 – 3          6 + 3


8 – 4          9 – 9


5 + 5          10 – 0

2 + 1             7 – 4


3.   Израчунај збир бројева 7 и 2.


  R : ___________________


4.  Mина има 9 година, а Милица 4 године мање. Колико година има Милица  
?


R: _____________________


O: ______________________________________________________


Број бодова и оцена: __________________

